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Ibf/in® He H:0
MPa kef/cm bar atm (K> ) He .
psi (Torr) inHg H:0
0.1MPa 0.1 1.019716 1 0.986923 | 14.50377 | 750.0617 29.53 10197.16
Tkef/cm 0.098067 1 0.980665 | 0.967841 | 14.22334 | 735.5592 28.96 10000
1bar 0.1 1.019716 1 0.986923 | 14.50377 | 750.0817 29.63 10197.16
latm 0.101325 | 1.033227 | 1.01325 1 14.69595 760 29.92 10332.27
1lbf/in° 0.006895 | 0.070307 | 0.068948 | 0.068046 1 51.71493 2.036 703.0696
760mmHg | 0.101325 | 1.033227 1.01325 1 14.69595 760 29.92 10332.27
linHg 0.003386 | 0.034532 | 0.033864 | 0.033421 | 0491154 254 1 345.32
1000mmH0 | 0.008807 2.1 0.098067 | 0.086784 | 1.422334 | 73.55592 2.896 1000

0.1MPa =100kPa =100000Pa =1013hpa
HREH =45"—VEH +ATE (1atm)
WEE0EMER
(mi/hinor)] % (2 /mingmor)) [ (Mi/h(nor)fR2(E) X 16.6=(2 /mininor)ii2ME)
(2 /minmor)) % [mi/hinor)) [C (2 /minor)FREIE) X 0.06=(m/hinor )i E1E)
kg/h) % (mi/h(nor)) (C (ke/hifRE{E) X 22.4/KFD 5 FE=(mi/hnor.)
f51/50(m/hnor))=50% 16.6=830( & /min(nor.))
25( 2 /min(nor))=25%0.06=1.5(m/h(nor.))
FUEZT 50(ke/h)=50x22.4/17.03 (FYEZ7DHFE) =65.8(m/h(nor))
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bl 5 M 55.67 39.77
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J o N 50.40 98.62
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10Mx4.76=47.6nm (EREJE)
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